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Cluster: 0022 ptr; resid: 0.39; r/c: 35/54

x.range

upstream meme PSSM #1; e=5.7e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=9.7e+04

1 3 5 7 9 111 3 5 7 9 11
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15374
22803

25298

26336

10585

16843

18202

21789

27278

29488

32850

37743

40470

42267

42457

42686

43124

43679

43964

44170

44756

45605
46808

47145

47968

49054

49256

49279

4929749306

49659
49666

49670

50349
54330

string −500 −400 −300 −200 −100 −1
42267NA
32850−0.13
49670−0.16
16843−0.18
26336−0.22
49306−0.24
47145−0.29
27278−0.30
46808−0.41
44756−0.45
42686−0.57
43124−0.58
45605−0.63
54330−0.83
44170−0.93
49666−1.07
42457−1.10
10585−1.25
49279−1.30
49297−1.44
25298−1.46
49659−1.53
15374−1.66
49256−1.70
43964−1.88
43679−2.18
40470−2.27
49054−2.34
50349−2.40
18202−2.55
47968−2.84
37743−4.09
22803−5.27
29488−5.64
21789−7.23

log10(P) upstream meme1 2 log10(P.clust)=−1.68; 35 seqs; 35 uniq
c(0.5, 2.5)
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